

GOVT. OF WEST BENGAL IRRIGATION & WATERWAYS DIRECTORATE OFFICE OF THE EXECUTIVE ENGINEER SUBARNAREKHA BARRAGE DIVISION KHASJUNGLE, ABAS, PASCHIM MEDINIPUR PIN: 721102

N.I.T No - WBIW / EE /SBD / NIT-05 / 2016-17

Schedule of items, quantities, rates, amount etc. for the work :" Repair & Maintanance of Boundary wall at Subarnarekha Barrage Project office cum colony complex at Khasjungle , P.O.-Abas , Dist . - Paschim Medinipur" .

Amount Put To Tender: Rs.4,41,400.44
Earnest Money: Rs.8,828.00
Time allowed for Completion: 30 Days

SI.No	Description of items	Quantity	Unit	Rate	Amount
1	Clearing compound premises of shurbs, plants, jungles etc. by cutting and removing as directed (Specific permission of Engineer-in-Charge prior to execution will be necessary).				
	(Payment to be made on area cleared)	732.00	Sqm	11.00	8052.00
2	2 Surface Dressing of the ground in any kind of soil including removing vegetation inequalities not exceeding 15 cm depth and disposal of the rubbish within a lead upto 75 m as directed.		Sqm	11.00	2684.00
3	Dismantling all types of masonry excepting cement concrete plain or reinforced, stacking serviceable materials at site and removing rubbish as directed within a lead of 75 m.				
	a) In ground floor including roof.	4.53	Cum	451.00	2043.03
4	4 Repairing crack in wall by cement grouting (1 : 2) including widening the crack on the surface (into V section) cleaning and packing the same with cement mortar (1 : 2) and finishing off to match with adjacent surface.		%Mtr	1450.00	362.50
	Driek work with 4 st slock brieks in correct mental (4.4)				
5	Brick work with 1st class bricks in cement mortar (1:4)				
	(b) In superstructure, ground floor	4.53	Cum	6077.00	27528.81
6	Stripping off worn out plaster and raking out joints of walls, ceilings etc. upto any height and in any floor including removing rubbish within a lead of 75m as directed.	173.06	Sqm	19.00	3288.14

7	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor).				
	(ii)With 1:4 cement mortar				
	(a) 20 mm thick plaster	261.16	Sqm	191.00	49881.56
8	Removing loose scales, blisters etc. from old painted surface and thoroughly smoothening the surface to make the same suitable for receiving fresh coat of paint.	29.25	Sqm	22.00	643.50
9	(A) Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary:				
	(b) On steel or other metal surface :				
	With super gloss (hi-gloss) -				
	(iii) Two coat (with any shade except white)	29.25	Sqm	86.00	2515.50
10	Scraping of moss, blisters etc.thoroughly from exterior surface of walls necessitating the use of scraper, wire brush etc.(Payment against this item will be made only when this has been done on the specific direction of the Engineer-in-				
	charge)	3963 75	Sam	7 00	27747 65
	charge)	3963.75	Sqm	7.00	27747.65
11	charge) Applying decorative cement based paint of approved quality after preparing the surface including scraping the same thoroughly(plastered or concrete surface) as per manufacturer's specification.	3963.75	Sqm	7.00	27747.65
11	Applying decorative cement based paint of approved quality after preparing the surface including scraping the same thoroughly(plastered or concrete surface) as per	3963.75	Sqm	7.00	27747.65
11	Applying decorative cement based paint of approved quality after preparing the surface including scraping the same thoroughly(plastered or concrete surface) as per manufacturer's specification.	3963.75	Sqm Sqm	53.00	27747.65
	Applying decorative cement based paint of approved quality after preparing the surface including scraping the same thoroughly(plastered or concrete surface) as per manufacturer's specification. In Ground floor:	3963.75			
	Applying decorative cement based paint of approved quality after preparing the surface including scraping the same thoroughly(plastered or concrete surface) as per manufacturer's specification. In Ground floor: (iii) Two coats Labour for taking out (from fencing) line of wire (galvanised, strand or barbed) including the cost of taking out staples (by	3963.75	Sqm		
12	Applying decorative cement based paint of approved quality after preparing the surface including scraping the same thoroughly(plastered or concrete surface) as per manufacturer's specification. In Ground floor: (iii) Two coats Labour for taking out (from fencing) line of wire (galvanised, strand or barbed) including the cost of taking out staples (by cutting or otherwise, as necessary).	3963.75	Sqm	53.00	210078.75
12	Applying decorative cement based paint of approved quality after preparing the surface including scraping the same thoroughly(plastered or concrete surface) as per manufacturer's specification. In Ground floor: (iii) Two coats Labour for taking out (from fencing) line of wire (galvanised, strand or barbed) including the cost of taking out staples (by cutting or otherwise, as necessary). (Payment to be made on the length of the wire taken out.) Labour for fitting line of wire to posts, tightening by straining bolts and fixing the wire (in taut condition) to the post with staples (including the cost of cutting and lapping joints in the wire, as necessary and including the cost of staples and straining bolts and also the labour for fixing the staples but	3963.75	Sqm	53.00	210078.75

(Rupees four lakhs forty one thousand four hundred and forty four paise) only				
				441400.44
(Payment to be made on the length of individual lines of wire.)	3600.00	%Mtr	2795.00	100620.00
(a) Supplying, fitting galvanised 3 ply 12 gauge / 4 points line of barbed wire in fencing (holes already made in the body of the post) or fixed by staples tightening and fixing the wires in taut condition with straining bolts including the cost of cutting and of lapping joints in the wire as necessary but excluding the cost of galvanised staples, straining bolt and binding wire where necessary.				

Sd/- (S.N.Hait)

Executive Engineer
Subarnarekha Barrage Division
Khasjungle,Abas,Paschim Medinipur

I / We do hereby agree to execute the above work @	% (in figure)
(in words) percent above	_
schedule of rates. I shall abide by all terms and conditions laid down in the NIT	& WBF 2911(ii) and in the
printed schedule, specification etc. of Kangsabati Circle / WB P.W.D	now in force.

Signature of Contractor

